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Quiz 6 Don'tforgetunits. (N = 5 %/\ Name

1. Consider a 1 dimensional potential U(x) = x* - 3x (in J). A mass = 1 kg moves in this potential.
a) Where are the equilibrium point(s)?
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b) Is each stable or unstable?

T
UL YRy LA
Vi éé\ﬁ < “){ < -k Q{zz %g‘w\,
f}j‘{lv ) %

- ro4
i
Y= -] {,M,&&& A AN

¢) What is the frequency of small oscillations about a stable equilibrium point?
fecard Kz ' J mu.
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d) If the particle is launched from the origin, in the +x direction, what speed would it need to
escape to either + or - infinity? (Or can it never escape?)
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Evaluate the work done
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by the 2-dimensional force F = (%3, 2xy) aiong the path ¢, given parametrically as x=t3, y=t2.



